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INTERPRETACION DE GRAFICAS

El enunciado a las opciones son gréficas o dibujos.

Usted debe escoger entre las opciones, la oracion que descril

interprete o responda a la gréafica del
Enunciado
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. In the Picture is observed

a boy is singing rock.

. ayoung man is singing “salsa.”
. a young man is singing rock.

. a baby is singing “salsa.”
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2. According to the picture

a. they were enjoying their work
time.

b. they were enjoying on vacation
c. they were working on vacation.
d.they were flying on vacation

MARK WITH AN X THE CORRECT ANSWER LETTER
ACCORDING TO THE SITUATION

3. You were very thirsty

. you drank a glass of water
. you drank a tonic

. you ate a dish of soup

. you ate a sandwich
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You were so bored

. you went to a sauna room
. you went to the movies
you worked a lot

. you sold fish in the market
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. You studied very hard

. you brought a good grade
. you took a good grade
you got a good grade

. you good grade
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You won a lottery

. you bought a new house and a car
. you sold a new house and a car
you took a new house and a car.

. you saw a new house and a car
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7. 1 worked very hard
a. | won $ 150.000
b. | lost my salary

c. | saw my father

d. | wrote a letter

THE ROMAN EMPIRE

Two thousands five hundred years ago, Rome was just a small city. It was
not different from other cities in Italy at that time. The people of Rome were
intelligent and they worked very hard. The Roman soldiers were strong, and
they could fight well. Soon Rome was a great city. By 100 A.D., Rome was
the center of a great empire. There were Roman cities in many other
countries, and there were good roads from Rome to these cities. The Roman
Empire was about 5,000 kilometers from one end to the other, and it was
strong for 500 years. You can still see a lot of Roman buildings in many

places.

MARK WITH AN X THE CORRECT ANSWER LETTER
8. From the reading we deduced

. All the cities in Italy were alike

. Rome was not alike from other cities

. All the cities in Italy were large
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. Rome was different from other cities

. According to the passage

. Romans were lazy.

. Romans were good farmers
. Romans were bad farmers

. Romans were workers.
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10. the meaning of soldiers is
a. soldado

b. guerrero

c. soldados.

d. guerreros







